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Important Instructions :

Question paper is divided in three Sections—(A), (B)
and (C).

(i) @UE (37) & AW Y BA HLA A T

All questions of Section (A) are compulsory.

(i) @UE () Td (F) H ¥ *E ff Tk TS §A HAT L |

Solve any one section from Sections (B) and (C).

(iv) % GUS o Gt ¥ o SW T o WH R faa W
Meq |

Write all answers of each section in same place.

(v) ARy vsg-Hmn o1 Seorg s Sgifas gl & fag 7

Maximum word-limitis only for the theoretical questions.
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W@ug-( 31) / Section-(A)
HISEHT WAt a1 Il & fog oiEies
(Partnership Firms and Company Accounting)

fcor : W@US-(21) & T g weft qdanfefai o fow eifrard €1 v wHie 1 9 6

T SfITREaa U § | Y% I99 W 1 3 i €1y u # IW

790G A1 1 A H <1 § a0l aegTe TR oft €
Instruction : All questions of Section-(A) are compulsory for all students. Question

Nos. 1 to 6 are very short answer type questions carrying 1 mark each.

Answer these questions in / word or / sentence and also include objective

type questions.

TS T -
Objective type questions :
Y9a-1  ORER ol & 319Td H AEerl § en9-g1f il favreH g ® [1]
(1) YSit ergama #
(&) N AU |
(9) GHH AT H
(%) 378 9§ i Tl
In the absence of Partnership Deed, profit/loss is distributed among
partners :
(a) 1n capital ratio
(b) in sacrificing ratio
(¢) 1n equal ratio
(d) None of these

W-2 A % T R E [1]
(&) Fimurt
(&) RO
CIREISED
(3) ¥4 9 &K T
Owners of a company are :
(a) Shareholders
(b) Debenture-holders
(¢) Directors
(d) None of these

NM-43 A



YIT-3

-4

YIT-6

fdor

Instruction

W -7

[3]
I @I H B ST A1, WEeri & fRE @i H shiee fhan S g ?
(37) S @
(&) it @

(T) YTHARR @l

() o @

Realization profit is credited in partner’s which account?
(a) Bank Alc.

(b) Capital A/c.

(c) Revaluation A/c.

(d) LoanAlc.

w1 fhe g st Hufa & ?
What type of asset is Goodwill?

ol e fores & fora 9i gartan o & 2

In which side of balance sheet capital reserve is shown?

Tdh WIRICR &t <7 TR 1 Jrae ford foman Siman & 2

To whom the due amount is paid in case of death of a partner?

[1]

[1]

[1]

[1]

: U A% 7 W 10 T THSTIT U § | TAH T W 3 e fAuifa ¥ 1 3w

1 SATRaH Tea-FHT 50 TsE ¥ |

carries 3 marks. Maximum word-limit of answer is 50 words.

Tk U 7 20 %, dlel 25000 F9a1 791 Frifaa fove ) wegot uftr wegea
[1Y5+1Y=3]

TS Bl 7T | ST Shi QEdehl B Uil gfafgat it

A company issued 25000 equity shares of Rs. 20 each. All the

amounts have been received in lump-sum. Pass Journal Entries in

the books of the company.

Question Nos. 7 to 10 are short answer type questions. Each question

NM-43 A
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YIT-8

YI1-9

YI1-10

fdor

[4]

S fafiee 7 100 %. At sier 10% Hfvem W frifaa fhe 9, e 9
TR AT—20 &, SAeISH T, 30 &. ATeie W (ifHFH |igd) a1 20 & 9H
AT W | SIS ST 50 379 BT Hifersh §, ¥ e 3R YT A A I
TeT Toha | Shat 7 3Tk 3791 STed < Totdl | SRt ohl T&ieh H SR W i
I et wfafgar sifer | [3]

Jain Ltd. issued equity shares of Rs. 100 each at 10% premium,

payable Rs. 20 on application, Rs. 30 on allotment (including
premium) and Rs. 20 on first call. Ashish, holder of 50 shares failed
to pay allotment and first call money. His shares were forfeited.

Pass Journal Entries related to forfeiture of shares in company’s book.

I TGN 1 YAY oA i SATERIhdl o I R0l faf@y | [1+1+1=3]

Write three reasons to give admission to a new partner.

e fafies 9 W 9ed 1,90,000 % H WIS %A Yfdhd W@Ey
100 % ATl 3791 5% Fe W FHifHa fort | wrd1 St &kl § STEwae SHd
wfafar sifsm | [1+2=3]

Ashish Ltd. bought a building for Rs. 1,90,000. As its payment it
issued equity shares of Rs. 100 fully paid at 5% discount.

Pass necessary entries in the journal of the company.

: T AR 11 T 12 TSI U9 ¥ | T T W 4 i fUiia €1y
T T 3Tk foehed § | ST 1 Afershan vee-Hmn 75 vss § |

Instruction : Question Nos. 11 and 12 are short answer type questions. Each question

TIT-11

carries 4 marks and has internal choice. Maximum word-limit of answer

1S 75 words.

TN A SR Wit S § i fafay (1 =) | [1+1+1+1=4]

Differentiate between Sacrificing ratio and Gaining ratio (any four).

3ear
OR

e wt forgl ar faRvaed = g9=mET |

Explain any four characteristics of Partnership.

NM-43 A
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Y9-12 A4, B 3R C WERR T 131 ¥4, 2018 &1 371 faal fgd o
IR T Tt Ty

(%.) (%.)

ISR 3,000 | = 1,200

TSft THATeR 400

A - 2,000%. whY 2,650

B - 1,750 %. TR 3,780

C - 1,500%. 5250 | J*s 220

8,250 8,250

1 318, 2018 Sl I D ol IR ! el H Yo91 <4 o fore f=1 ot ™
TeHd BId §—

(i) T 1,500 . TAMG % g qem 1,800 &. Ysit & g g e |

(i) TR T TR 1 god SHES: 950 . 3R 380 %. STehT T |

(ifi) ER¥ h1 JoF 450 T. QAT 1|

TY-BI THRISH @l 9164 | [4]

A, B and C are partners. Their Balance Sheet as on 31 March, 2018
was as under :
Liabilities Amount Assets Amount
(Rs.) (Rs.)

Creditors 3,000 |Machinery 1,200
Capitals : Furniture 400
A -Rs. 2,000 Stock 2,650
B -Rs. 1,750 Debtors 3,780
C-Rs. 1,500 5,250 |Cash 220
8,250 8,250

NM-43 A P.T.O.
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On 1st April, 2018, they admitted D for equal shares on the following

conditions—

(i) He will bring Rs. 1,500 for Goodwill and Rs. 1,800 for Capital in cash.
(i) Machinery and Furniture were valued Rs. 950 and Rs. 380 respectively.
(iii) Value of stock be increased by Rs. 450.

Prepare Profit and Loss Adjustment Account.

srgar

OR

M 3R Y T wH H GReR § 1 1 SHadl, 2018 S SAh! Yol HA:
25,000 &. 3R 20,000 %. off | 3¢ YSi W 8% U ¢ ot X ¥ =1 e
ST € T Sk BB W 12% <ATS TR STl © | 9 4 1 T[S, 2018
! 10,000 T. HH 1 B & ®9 H fSU| TIM 5,000 . S1fteh odq

AR B 1 STk STRELUN IR SITST ShHYT: 600 &. & 500 %. TN 747 | 31

fedeR, 2018 =l THTA ¥ 1 1Y ITYHK HHRISH & ol 25,000 &, o7 | I

TS .

2018 hl ATH-2IIT TS @Idl d-1gT |

Ram and Shyam are partners in a firm whose capitals on 1st January,
2018 were Rs. 25,000 and Rs. 20,000 respectively. They are allowed
interest on capital @ 8% p.a. and interest on drawings is charged
@ 12% p.a. Ram gave Rs. 10,000 to the firm as a loan on 1st July,
2018. Shyam is entitled to get an annual salary of Rs. 5,000. Interests
charged on their drawings were Rs. 600 and Rs. 500 respectively.
The profit for the year ended on 31st December, 2018 before
making above adjustments was Rs. 25,000. Prepare Profit and Loss

Appropriation Account for the year 2018.

NM-43 A
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fAder . U9 ShHTR 13 W 15 doh SrESTUd U9 © | Tk U9 W 6 3iek Tyifid ¥ 1
Yok U9 T ATdiieh fosheq B

Instruction : Question Nos. 13 to 15 are long answer type questions. Each question

carries 6 marks. Each question has an internal choice.

Y99-13 T ®H H L, M 3R N e & FEER © | 31 fTHaER, 2014 &1 M &t
81 T8 | 39 ffer 7 3® 20,000 w7 <7 off | 7§ o feren @ ok g7 i
5,000 %. &t SIffent GRT i o A i S | 9T P 1 S,
2015 <Al ez & e gfd a9 3= oirae ot 1 SHad Rl foRT T MR
STUTERRT i o 2 SHadl, 2017 1 &1 75 | 9fd o6 a1ffes 99 | 6%
1R i G Y ST Y UM St ST ¢ | ST o<1 @Il Sy | [24+2+2=6]

L, M and N are equal partners in a firm. M died on 31 December,
2014. On this date, amount payable to him was Rs. 20,000. It was
decided that this amount will be paid by annuity of Rs. 5,000 to be
paid each year. The first payment was made on Ist January, 2015
and other payments were also made on 1st January every year. On
2nd January, 2017 his legal representative died. Interest was allowed

@ 6% p.a. on balance amount. Prepare Annuity Suspense Account.

sTear
OR

X, Y 3R Z U FH H WERR €, S arv-g1 1 fawrs 3:2: 1 % 31U
T Hid B 1 1 A, 2014 1 X 7RI TS0 Hial ¢ | 39 fafsr = @
20,000 &. <9 ot | g fofa feran man o =€ f¥r 3,000 ©. <t anftfent gra
AT ohl ST | G| SFTa 1 SHet, 2015 o1 fean 7= a9 ufd o s/
P ot 1 SHad 1 fohan T 2 SEeRl, 2018 X F T B S € |
gfa o At AW W 6% Mtk i X & SATS Y T ht Sl ¢ |

[ Y

dltehl 3= QIdl sS4 | [1Y2+1Y2+1Y+1Y2=6]
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X, Y and Z are partners of a firm sharing profit and loss in the ratio
of 3:2:1.0n IstJanuary, 2014, X retires from the firm. On this
day share of amount payable to him was Rs. 20,000. It was decided
that this amount will be paid by annuity of Rs. 3,000 to be paid each
year. The first payment was made on 1st January, 2015 and other
payments were also made on 1st January every year. On 2nd January,
2018, X died. Interest was allowed @ 6% p.a. on balance amount.

Prepare Annuity Suspense Account.

Y9a-14 X 3R Y U ®H & HEER 8 | B o faeed w f=fafed seeri & fau
Toit yfeftear sifs [1+1+1+1+1+1=6]

(i) T yfafte Frafd shi sgell T 8,000 . |

(if) TERI %I 3,000 & TE H T |

(iii) TRy o8 agel @ § Tmiaia fwam S e €, 2,000 . H S 7@
(fv) fafEe | 10,000 & a9« U

(v) foered =& & 800 %. FehTT 7T |

(vi) Gl W & &9 6,000 % X AR Y H 3 : 1 H faafa foman s g |

X and Y are partners in a firm. Pass Journal Entries when the firm is

dissolved on the following conditions :

(/) Amount realized from an unrecorded asset Rs. 8,000.

(i) Rs. 3,000 were paid in cash to creditors.

(iif) Stock transferred to Realization Account was sold for Rs. 2,000.
(iv) Rs. 10,000 were realized from investments.

(v) Dissolution expenses paid Rs. 800.

(vi) Profit on realization Rs. 6,000 is shared by X and Y in the ratio
of 3:1.

NM-43 A
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[9]

sTeqar
OR

T W % faered % fefated geme 9 dst yfafeat s

(i) T Afafad dufa | =¥e g3 1,500 . |

(if) A = % 1,000 . R |

(i) <TeR 8 aget @ § TIHaid fan s g §, ¥ 48,000 <.
ErGRERIKIRIE

(iv) 7,700 . eI 1 @faan 58 agell @d # wumaia foean s e

2, ol Teh WEIER B 4 5,000 %, | o faan

(v) oeR o8 aeel @ ® TeHiaRd fohan ST €, 1 30,000 . 7T
fopan |

(vi) e WA T A9 12,000 . B 3R D H 7 : 5% 314 | sifer 77|

Pass Journal Entries on the dissolution of a firm from the given

informations :

(/) Rs. 1,500 realized from an unrecorded asset.

(if) Paid dissolution expenses Rs. 1,000.

(iii) Debtors transferred to Realization Account realised Rs. 48,000.

(iv) Stock Rs. 7,100 transferred to Realization Account was taken

over by a partner B for Rs. 5,000.
(v) Creditors transferred to Realization Account paid off Rs. 30,000.

(vi) Realization profit Rs. 12,000 to be distributed among B and D
in the ratio of 7 : 5.

S fafee = 100 %. amt 4000, 5% M9 10 €. T o Wiem W)
1 R FifHa fohu—3Tmaes W 20 ., 37eied W 50 %. (Wifiem feaq)
AT Y AT R | et B & fT eaeq ra ge ) vt it gumamy
TS B TS | ShoT hi Gkt | Uoit gfaftear swifer | [1+1+1+1+1+1=6]
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Jain Limited issued 4000, 5% debentures of Rs. 100 each at a
premium of Rs. 10 per debenture payable—Rs. 20 on application,
Rs. 50 on allotment (including premium) and balance on call.
Applications were received for all debentures. All money were duly

received. Pass Journal Entries in the books of the company.

sTar
OR

Mad fafies 3 10 % 9 10000 THAT 319, 2 % Wid 379 Wi w—
frffa feru 1 afn f=1 YR 7 oft—3Tee W 3 %, 9fq 379), 3feed W5
T, (Nifyew wfeq) ufa sfer e 9w e W 9eft iy Fuemy w8
TS | T ki Gkt | Yol gfaftear swife

Goyal Ltd. issued 10000 equity shares of Rs. 10 each at a premium
of Rs. 2 per share. Amount payable—Rs. 3 per share on application,
Rs. 5 per share on allotment (including premium) and balance on call.
All amount were duly received. Pass Journal Entries in the books of

the company.

fdor : TR R 16 T8 17 HEAEF T § | Toh TR W 8 3 i@ € | o
T W aRen faeed T

Instruction : Question Nos. 16 and 17 are numerical questions. Each question carries
8 marks. Each question has an internal choice.

Y9-16 T faAfHee 91 1 10 %. a1t 10000 3790, 4 %. 9fa 2F91 wifram w frifaa

forw 1 ¥ f1 gepr |l 7

FMEET W 4 %, Yfd ofw (Rfem 1 %)
eI W 3 %, Yid 9 (HifHEH 1%.)
o I W 4 %, 9id 379 (HifEq 1 %.)
FAfH Fr=A W 3 %, i {9 (WifHeE 1 %)

it el T W 9T 1 TE | HU ki skl B STEvesh St gfaftear
HfT | [1+1+1+1+1+1+1+1=8]
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A limited company issued 10000 shares of Rs. 10 each, payable at

premium of Rs. 4 per share. Amount payable as :

On Application Rs. 4 per share (including premium Re. 1)
On Allotment Rs. 3 per share (including premium Re. 1)
On First Call Rs. 4 per share (including premium Re. 1)
On Final Call Rs. 3 per share (including premium Re. 1)

All amounts were duly received. Pass necessary Journal Entries in

the books of the company.
37ear

OR

Trar faffes 7 100 . @l 10000, 8% g fifHd fhy | ef@aeT ™
10 %, 3ATeeT W 20 %., GUH A=A T 40 T, qUT AfaH Jr=H1 W 30 &. 9fd
SROTYS Y <X W UMY AN 0 | g iR FUrHE e |1 e |

ST hi Gkl | Uei gfaftedr sifer |

Samta Limited issued 10000, 8% debentures of Rs. 100 each. Amount
payable Rs. 10 on application, Rs. 20 on allotment, Rs. 40 on first
call and Rs. 30 per debenture on final call. All amounts were duly

received. Pass Journal Entries in the books of the company.

TA-17 X IR Y U& H H WERR € SR Av-g1i 1 fasreH 3:1 % o1gud o &
1 3% 31 feder, 2017 1 9ERE™ T9< ® o1 =g fwan ) s
fereat fFAgEr o .
e RUN| vt Tty
(®.) (=)
TR 2,700 | 9% H kg 3,000
= G 3,000 | SER 1,000
Y 1 H0 3,000 | wmwe 19,700
TSt : X 12,000 %. o 9,000
Y 12,000 % | 24,000
32,700 32,700
NM-43 A P.T.O.
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[12]

TIER 900 ¥., WU 18,000 &. TAT Wol 7,200 %. | THGR oh el Ya |
2,600 &, T 31, Igeit =49 500 €. U

YA W11 Td WEERT 1 IS Wi I | [5+3=8]
X and Y are partners in a firm sharing profit and loss in the ratio of
3:1. They decided to dissolve the firm on 31 December, 2017. Their
balance sheet was as follows :
Liabilities Amount Assets Amount
(Rs.) (Rs.)
Creditors 2,700 [ Cash at Bank 3,000
General Reserve 3,000 |Debtors 1,000
Y’s Loan 3,000 |Plant 19,700
Capital : X Rs. 12,000 Buildings 9,000
Y Rs. 12,000 24,000
32,700 32,700

Following were realized from assets :

Debtors Rs. 900, Plant Rs. 18,000, Buildings Rs. 7,200, Creditors
were paid Rs. 2,600 in full settlement, Dissolution expenses paid Rs. 500.

Prepare Realization Account and Partner’s Capital Account.

s7erar
OR

W, TAHU 3R YR Teh FH § FEIER €, Sl and-g14 o1 fauem 1z, 1/3
3T 1/6%h ST9d H &d € | 31 TSHeR, 2016 &1 37k fagar Fegar o

Tifa Tty Hufaat Ty
(%.) (%.)
ISR 8,000 | U+s 15,600
e stffoed 3,600 | fafay T9er 13,000
I 12,000 | whY 17,000
TSt G5 3,000
9 - 20,000 %. ST 3,500
FLHIT ~ 10,000 %. NCE| 11,500
qRd - 10,000 %. | 40,000
63,600 63,600

NM-43 A
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IRd A 39 T sTaenmn ugw fohan aun 59 Hey #§ f=fafea 9T
faf=a gu

(/) ThY® HA | 10% Jfg &t S

(if) T W 5% TR STufcAfEd hi S |

(iif) TTERI W 5% oI 0T T SHIAT S |

(iv) H @t @fd 1 ged 12,000 % T |

3TM9eht 31 fEEsR, 2016 I TR @I 3R HEERT & Y @I s
g [4+4=8]

Ram, Laxman and Bharat are partners in a firm sharing profit and
loss in the ratio of /2, 1/3 and /6 respectively. On 31 December, 2016

their balance sheet was as follows :

Liabilities Amount Assets Amount
(Rs.) (Rs.)
Creditors 8,000 |Cash 15,600
Bank Overdraft 3,600 | Sundry Debtors 13,000
General Reserve 12,000 | Stock 17,000
Capital : Machinery 3,000
Ram - Rs.20,000 Furniture 3,500
Laxman - Rs. 10,000 Buildings 11,500
Bharat - Rs. 10,000 40,000
63,600 63,600

Bharat retired on that date and following adjustments were decided :
(i) Value of Stock was increased by 10%.

(if) Depreciate Machinery by 5%.

(iii) Create reserve for bad debt at 5% on debtors.

(iv) Value of Goodwill of the firm is Rs. 12,000.

Prepare Revaluation Account and Partner’s Capital Account for the

year ending 31 December, 2016.

NM-43 A P.T.O.
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@ug-( o) / Section-(B)
o=t faawun ot faverwor

(Analysis of Financial Statement)

T : U T 18 Td 19 AfTestid W § | % U W 1 3k fuifd 7

Instruction : Question Nos. 18 and 19 are very short answer type questions. Each

question carries 1 mark.

(al

Yg-18 Tl fasheq T - [1]
Choose the correct option :
Wﬂfa?f%lE\BTWﬁT% :
(37) dqfaal =1 foaxo
(&) <Al = faero
(7)) feufq feerm
(?) 31y faerm

Balance Sheet is called :

(a) Statement of assets
(b) Statement of liabilities
(c¢) Position statement

(d) Income statement

Y99-19  =Ie] 31U TUAT &q Y fafen [1]

Write the formula to calculate current ratio.

frgor : UYT hHIR 20 W 22 T THSTIT U T | Y% T W 4 i fauifa ¥
Jeh W9 T AR fashed § )

Instruction : Question Nos. 20 to 22 are short answer type questions. Each question
carries 4 marks. Each question has an internal choice.

YPA-20  {ihe Yag foaior & %ig =R g fafau | [1+1+1+1=4]

Explain any four objectives of Cash Flow Statement.

3ear
OR

ke ale Tareror 3] 1y yare faawo # o fafay (1 =) |

Differentiate between cash flow statement and Fund Flow Statement

(any four).

NM-43 A
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yy-21  TefafEd faerol 9 g=med 9 9 Jhs @i TN ity [4]
9 2017 9 2016
faawor
(%) (%.)
TAER 15,000 12,000
3T 4 3,000 1,000
Jaed I 2,000 2,500
T GR 13,000 15,000
Y 2017 % TRH ATH g7 25,000 . |
From the following information, calculate Cash Flow from operating
activities :
Particulars Year 2017 Year 2016
(Rs.) (Rs.)
Debtors 15,000 12,000
Outstanding Expenses 3,000 1,000
Prepaid Expenses 2,000 2,500
Creditors 13,000 15,000
Profit during the year 2017 was Rs. 25,000.
HYdr
OR
1o et 9 e fohanedl § ke Yarg shi UM hifSIT
31-3-2017 | 31-3-2018
faawor
(%.) (%.)
Y- @ 1,20,000 1,10,000
TR 62,000 50,000
31q TRt 42,000 24,000
qaad Sl 4,000 8,000
TER 38,000 26,000
A 76,000 80,000
NM-43 A P.T.O.
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[16]

Calculate Cash Flow Statement from the following information :

Particulars 31-3-2017 | 31-3-2018
(Rs.) (Rs.)
Profit and Loss A/c. 1,20,000 1,10,000
Debtors 62,000 50,000
Outstanding Rent 42,000 24,000
Prepaid Insurance 4,000 8,000
Creditors 38,000 26,000
Goodwill 76,000 80,000
Frefafed gemeti 9 =] Turd 1 HifsT [4]

Y (Wl&) 26,000 ¥., TIGR 20,000 %, 9« fauad 6,000 %., A=
ST FHM 3,000 ., THAIG Thg 20,000 ¥., TSR 30,000 %., <7 faqa
18,000 ¥, Sieh AffaeRs 2,000 F.

From the given information, calculate Current Ratio :

Stock Rs. 26,000, Debtors Rs. 20,000, Bills Receivable Rs. 6,000,
Advance Tax paid Rs. 3,000, Cash in hand Rs. 20,000, Creditors
Rs. 30,000, Bills Payable Rs. 18,000, Bank Overdraft Rs. 2,000.

arerar
OR
T g=sti | 9 STurd ki M1 HifSIT
=] TAAT 1,40,000 ., <hIFEier gt 1,80,000 &.,
TSR 3,000 ., Wik 1,10,000 .
Calculate Quick Ratio from the following details :

Current liabilities Rs. 1,40,000, Working capital Rs.1,80,000,
Creditors Rs. 3,000, Stock Rs. 1,10,000.

NM-43 A
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: UYT ShHh 23 SrESOUd YT § 1 39 U W 6 3ih Tyl | qen stafen
faheq SqTTsH B 1

Instruction : Question No. 23 is long answer type question. This question carries

UIT-23

frasr

6 marks and it has an internal choice.

foreitar feraoli & fagerwor st Homd qHemsy (HE o) | [1+1+1+1+1+1=6]

Explain the limitations of analysis of financial statements (any six).

sTgar
OR

forita faeruil o forgeroon s qee T9aEY (HE B7) |

Explain the importance of analysis of financial statement (any six).

Qug-( ") / Section-(C)
HIST AERT

(Computer Accounting)

: Y SHAR 18 Wd 19 STfderETid U ¥ | Yo I9 W 1 i fruifia 7

Instruction : Question Nos. 18 and 19 are very short answer type questions. Each

YI1-18

question carries 1 mark.

&1 faered g [1]
Choose the correct option :

DBA Eeldl ¢

(37) TREH & ER

() <EEd TfeehyH

(9) SIeEY TSHfyH

(3) <reeE T

DBA is called :

(a) Base of Database

(b) Database Application

(c) Database Administration

(d) Database Admin

NM-43 A
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Y9I-19  HTR § AW T FiE <1 Iqre fafan | [Vata=1]

Write any two examples of hardware of computer.

frdor : YT HHIE 20 W 22 O TYSTIT T ¢ | TF W W 4 3k fuifa ¥
e Y W ST foshed § SR SR it ifiehad ves-dn 75 IS €

Instruction : Question Nos. 20 to 22 are short answer type questions. Each question
carries 4 marks. Each question has an internal choice. Maximum word-

limit of each answer is 75 words.

Y9-20 SROY Y64 Juel & fafy= STIuArT ol 999ET (FiE F1) | [1+1+1+1=4]

Explain various applications of Database Management System (any four).

37gar/ OR

TREH Yoi¢ YUt o hig IR o1y THSST |

Explain any four advantages of Database Management System.

Y9-21 SR foar-To ! g =R fagrand fafew | [1+1+1+1=4]

Write any four characteristics of Electronic Spreadsheet.

37gar/ OR

SR eh fdR-" ! hTE IR SYAINTATE fafan |

Write any four utilities of Electronic Spreadsheet.

Y9T-22 K i fohg] IR YE forrodieti bl Sy | [1+1+1+1=4]

Explain any four main characteristics of computer.

37gar/ OR

HFX ol KA & TR TR0 HHEAET |

Explain types of computer on the basis of functionality.

NM-43 A
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fgar : 9 ShHieh 23 SR WA € | 39 U9 W 6 i (9iRa € | 39 U9 W 3Aialeh
foshed & | ST 1 Afeeha wsg-HmT 725 98 ¥ |
Instruction : Question No. 23 is long answer type question. It has been allotted
6 marks. It has an internal choice. Maximum word-limit of answer is
125 words.
Yya-23  fRE ff TR & @i Uohs AIReoRR o 9 94 = H @ I 9
fafau (& 3) | [1+1+1+1+1+1=6]
Write the points which should be kept in mind before taking any kind
of accounting package software (any six).
3gar/ OR
Y-UeT o TZoh! ol THEET (i B7) |
Explain the factors of Pay-roll (any six).
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